MATH 113, SECTION 5 Homework #1 FaLL 2017

Exercises 0: 11, 14, 16, 17, 19, 20ai
Additional exercises:

1. Let ¢p: A — B and x: B — C be two maps. Show that:

(a) If x o ¢ is surjective, then x must be surjective.

(b) If x o ¢ is injective, then ¢ must be injective.
2. Determine whether the following maps are invertible.

(a) ¢ : R — R, where ¢(z) = %
(b) ¢: R — R, where ¢(z) = 22 — 4.

3. Let : A — B and x : B — (C be maps. Prove that if ¢ and y are both
surjective, then y o ¢ is surjective.



